

9 גל / כחול

~17504

$$R = \lim_{n \rightarrow \infty} \left| \frac{a_n}{a_{n+1}} \right| = \lim_{n \rightarrow \infty} \frac{(n!)^2 \cdot [(2n+2)!]^3}{[(2n)!]^3 \cdot [(n+1)!]^2} = \sum_{n=1}^{\infty} \frac{(n!)^2}{(2n)!} x^n \quad (1)$$

$$\lim_{n \rightarrow \infty} \frac{(2n+1)(2n+2)}{(n+1)^2} = \lim_{n \rightarrow \infty} \frac{(2n+1) \cdot 2}{n+1} = 4$$

$$R = \lim_{n \rightarrow \infty} \left| \frac{a_n}{a_{n+1}} \right| = \lim_{n \rightarrow \infty} \frac{\frac{1}{n^p}}{\frac{1}{(n+1)^p}} = \lim_{n \rightarrow \infty} \left(\frac{n+1}{n} \right)^p = 1 \quad p \in \mathbb{R} \quad \sum_{n=1}^{\infty} \frac{x^n}{n^p} \quad (2)$$

$$\sqrt[n]{a_n} = \sqrt[n]{n^3} = 1 = R \quad \sum_{n=1}^{\infty} n^3 x^n \quad (1) \quad x = \pm 1$$

$$a_k = \begin{cases} 0 & \text{הערך השני: א-כ-י} \\ (-1)^{k-1} & k=2n \\ (2n)! & \end{cases} \quad \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{(2n)!} x^n \quad (2)$$

$$\lim_{k \rightarrow \infty} \sqrt[k]{|a_k|} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{(2n)!}} = 0 = C \Rightarrow R = \infty \quad \sum_{n=1}^{\infty} \cos\left(\frac{n\pi}{3}\right) x^n \quad (3)$$

$$\cos\left(\frac{n\pi}{3}\right) = \frac{1}{2}, -\frac{1}{2}, -1, -\frac{1}{2}, \frac{1}{2}, 1, \frac{1}{2}, -\frac{1}{2}, -1, \dots$$

$$\sqrt[n]{a_n} = \sqrt[n]{\cos\left(\frac{n\pi}{3}\right)} \quad \sqrt[n]{1/2} \leq \sqrt[n]{\cos\left(\frac{n\pi}{3}\right)} \leq \sqrt[n]{1}$$

$$R = C = \lim_{n \rightarrow \infty} \sqrt[n]{a_n} = 1 \quad \sum_{n=1}^{\infty} n! x^n \quad (3)$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_n}{a_{n+1}} \right| = \lim_{n \rightarrow \infty} \left| \frac{n!}{(n+1)!} \right| = \lim_{n \rightarrow \infty} \frac{1}{n+1} = 0 = R$$

$$\sqrt[n]{\frac{(\log n)^n}{n^{\log n}}} = \frac{\log n}{(e^{\log n})^{1/n}} = \frac{\log n}{e^{\frac{\log n}{n}}} \rightarrow \infty = C \quad R = 0 \quad \sum_{n=1}^{\infty} \frac{(\log n)^n}{n^{\log n}}$$

$$1 < x < e \quad \text{עבור } x=1 \text{ האורמטור מתכנס}$$

$$|x| < 1 \Rightarrow |x^n| \leq |x| \quad \text{אם } |x| < 1 \text{ אז } |x^n| \leq |x| \text{ ו-} \frac{1}{p_n} > 0 \quad \text{אם } x = -1 \text{ מתכנס}$$

$$f(x) = \frac{1}{1+x^2} \quad (4)$$

$$\frac{1}{1+t} = \sum_{n=0}^{\infty} (-1)^n \cdot t^n \quad \text{אם } |t| < 1$$

$$\frac{1}{1-t} = \sum_{n=0}^{\infty} t^n \quad \text{אם } |t| < 1$$

$$\frac{1}{1+x^2} = 1 - x^2 + x^4 - x^6 + \dots$$

$$\frac{1}{1-x^2} = 1 + x^2 + x^4 + \dots$$

המשך $|x| > 1$ האורמטור הפתוח אינו מתכנס

בס $x \in \mathbb{R}$ הטור מתכנס ל $\sin x$ (יחיד-הסינוס) .

(א) הטור מתכנס ב $(-1000, 1000) \Leftrightarrow$ יש המכנס-בטל
(ב) ושלם $[1000, 1000]$

$$S_1(x) = x$$

$$S_2(x) = x - \frac{x^3}{6}$$

$$S_3(x) = x - \frac{x^3}{6} + \frac{x^5}{120}$$

$$S_4(x) = x - \frac{x^3}{6} + \frac{x^5}{120} - \frac{x^7}{5040}$$

הסקרה $S_n(x) \rightarrow \sin x$ (קוצר-היד)
רעיון אחר $\rightarrow 0$
$$\sup_{x \in \mathbb{R}} |S_n(x) - \sin x| = \sup_{x \in \mathbb{R}} \left| \sum_{k=0}^n \frac{(-1)^k x^{2k+1}}{(2k+1)!} - \sin x \right|$$

כי $\sin x$ חסם ונגזר למהות
אין המכנס-בטל .
כאשר $x = 2k+1$ וקבל שההפרש